1. At the bus stop

Peux-tu résoudre cette énigme ? Lis les phrases qui décrivent les six jeunes filles
et identifie chacune d’elles en donnant son prénom.

= Annie is first in the queue.
* Susie hasn’t got glasses.

* Betty isn’t wearing jeans.

* Debbie isn't carrying a bag.
* Pattie’s got glasses.

* Pattie hasn’t got a bag. * Susie’s wearing a scarf.

* Debbie isn‘t wearing * Jackie isn’t wearing a hat.
a jacket. * Betty’s got long hair.

* Jackie’s carrying an
umbrella.

It must be... It might be... It cannot be...
2 ASBDP]J
3 ASBDP]J
4 ASBDP]
5 ASBDP]
6 ASBDP]J

Annie, Susie, Betty, Debbie, Pattie, Jackie

sample sentences:
#2 hasn't got glasses
#5 isn't wearing a hat




PartIl (because)

because
How sure are you? ? reason / why
(introduces a reason clause)

It might be Susie

It can't be because

It be Jackie



	Part II  (because)

